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Pwdhlu funudp nuu dpwghp
1 6 1 |51
Uwpuiiptkp
30239170 |wyhs puquudniijghniuyg Q2 hwwn 120000 120000 1
39132110 |2hphhqynn ywhwpwi/thnpp Qz hwwn 70000 70000 |
30197234 |@npwwwlwl / nown juquny Q. hwwn 500 10000 20
22851100 |Upwqulwup Q2 hwwn 100 4000 40
30197231 |$uy; Q2 | wnup 1000 3000 3
30192740 |@nipp A4 dnpdwn Q2 wuntth 2500 175000 70
30192121  |9phs qunhlwdnp Q2 huwn 100 3000 30
30192130 |Uwwnhun Q. hwwn 120 3600 30
30192100 |[f*Ewnmhl Q2 hwwn 100 1000 10
30192160 |Gwiphlu Q. hun 250 1250 5
e upnidikph hwdwp,
30199420 |unubdquspny Q2 wnntth 300 1500 5
30197111 |Ywphsh dbnwnuiwpk juwybp, tinpp| @2 | - winuh 150 3000 20
30197112 |Ywphsh Ubnnwnujupk yuwytp, thohly 92 wnnth 150 3000 20
30192114 |pwlwp Juhph pupdhyh hwdwp Q2 hwwn 500 1000 2
Spubuynmunuyhl byniebp
09411700 |Puwlwl ubnuyws quq Uu u3 200 300000 1500
09134220 nhqbjwjht yunkjhp (en 590) Q2 1hwp 450 990000 | 2200
Cunudkip 1689350
Ownuynipnibbkp b Uppruunwiplkp
45221142 | punhwinip ohtwpwpwl wohiwwn, | Q2 |

npud

| 8408450




44163100 wnpuuwunk funpnduly ()88 npud 1600 345600 216
44163100 Mnnuyuwnk gutg hniugws <<(tuphgu>> Uu npud 700 448000 640
NMnpuuwwnk wilnibul Uu npuud 1450 69600 48
39224330 Chtwpwpwlwh nniy )88 npuud 1000 4000 4
Yunpnn ghuly UU npuud 1300 13000 10
44163360 Udpuil UU | gpwd [ 400000 | 22000 [ 0.055
Cunwuklp 11000000
Puidhl hunudp nuu dpwghp
4 2 4 |51
Spuhuwynpunughl nipkp
09134220  [ghqkjuyhti Junkihp (en 590) | 92 [jpup | 450] 990000 2200
Ownuynipmniibbp b Upprunnwipllp
nnnqUut innnjulwowpkph
45231126 Jurnigdwl wohiwwmwlplbtp Q2 [gpud 6010000 4894000 1
wn{hEph{Eluhl fannnguikn
44141110 nnnqUul UU [gpud 621000 621000
44141111 tplpobipn Swjpwynp funpnjulubp UU [gpud 495000 495000
Cunwdkup - 7000000
Pudht funudp nuiu dpwghp
4 5 1 |51
Spwhuwynpuuyhl nipkn
09134220  [nhqkjuhl Junkihp (en 590) | a2 [jhup [ 450] 675000 1500
Ownuynipnibbkp b Uppruunmwlplln
Swlwuywphtbph YEkpuinpnglwi
45231177 wohiwtnwiplibip Q2 |npud 4325000 4325000 1
Cunwudkup 5000000
Pudhl funwdp nuu Sdpwighp
5 1 1 |51
Spuwhuynmunuyhl ynipln
09134220  [nhqkjuhli Junkihp (en 590) | a2 |jhup [ 450/ 900000 2000
Ownuynipnibilp b Uppnuwnmwbpikp
65000000 Ununibiw) Swnuynipjniibp Q2 |npud 1700000 1700000 1
YEpwinpnquui Swjuuwght
34911230 Uniphp b yuwhbunwdwubkp Q2 |npud 400000 400000 1
Cunwuklp ' 3000000
Pwdhu tunudp nuu Spwighp
5 2 1 |51
Spwhuwnpuughl nipkn
09134220  [nhqbjuyhti Junkihp (en 590) [ 92 [jhup | 450 648000 1440
Ownugnyeniiikp b Usjiunnublipllin
Ytnuugnbnh Yuywbtikph
YEpwinpnquut b nkhthjujulwi
45251168 uywuwpidwb wyhwwnwbptbp Q2 |npud 2352000 2352000 1
Cunudklp 3000000




Pwuidht hunidp nuu Spwghp
6 3 1 |58
Spuwhuwynpunughl ignipln
09134220  [nhqljuyhti Junkihp (en 590) Q2 |jhwup | 450  297000] 660
Ouwinuynyemniiikp b Upjuunnwubipllp
opwwnwputph Ykpujutqudwb
45231132 shttwpwpwlwb wohimwnwliptbp Q2 [npud 4523790 4523790 1
44500000 hwljwhppthuyht huljutkp UU [gpud 13000 299000 23
44500000  |hpoko qiluhy UU [gpud 2000 46000] 23
14211000 Uduq 1Jugusd UU [gpud 8000 88000 11
14211110  |jup& UU [npwd 8000 120000 15
44111200  |ghkubinn UU [npud 56000 336000 6
Olatih UU [gpud 1000 10000[ 10
31661100 EjEywnpnn 3Ud UU |gpwud 4000 8000 2
44163360 Udpuwjun UU |npud 420000 7560| 0.018
44511110 Chuwpwpwluwb puh/wynsny UU [gpud 1800 10800 6
44141110 wnihkphiEuwht ungnjuljubn UU |gpud 227000 227000 1
44163290 lunpnyuljubph vhwgnudubp UU [npud 26850 26850 1
Cunudkup 6000000
Pwudhl hunulp nuu dpwghp
6 4 1 |51
Ownuynijenilbkp o Upprunmubliplkp
ElEjunpudnunwduwght
45310000 wohiunwlipibp Q2 |npud 3000000 1259000 1
31531300 wnbwnbunn judy Q2 |gpud 2400 480000/ 200
31512360 LED jniuwpdwljibip Q2 |npud 18000 540000 30
31531680 Unpuwn Q2 [npud 150 15000 100
31531680 Unpwnh thnjuwbignid Q2 |npud 500 50000/ 100
31221160 Znuwliph dudwhb nkjk Q2 [gpud 5000 150000 30
31320000 dwniju wyinuwlhuk Q2 |gpud 150 75000{ 500
44423220 wunhdwl puquudniiyghntiuyg Q2 (npud 130000 130000 1
31686000 hupng Q2 [npud 300 30000 100
31684200 Junpgul bpyplbnuhl/1 wknuing Q2 |npud 550 27500 50
31684200 Junpgul kpyplhbnuht/2 wknuing Q2 |gpud 600 30000 50
31211520  |Snuh Q2 [gpud 1300 520000 40
Udunndwwn wipwwnhy Ukjntnuing
31211180  |/25A Q2 |gpud 1000 20000] 20
Udunnduwn wugwwnhy Ukjuntnuing
31211180  |/62A Q. |ppud 1500 60000| 40
Udunndwwn wipwwnhy 3 mknuting
31211180 /62A Q2 [npud 3500 17500 5
Pnyunplhs Q2 [npud 6000 60000 10
31651100  |Uklniuhs duuyun]kl Q2 [ppud 200 4000] 20
Cunudklp 3000000
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Ownuynipmniiblkp b Upjuunnuliplkn
Uwthnwpunkhuthjulut

45231158 wohiwnwlipibp UU |npud 1000000 784000 1
19641000 Jjuwnbpuwyun dkntingubp UU |npud 170 153000{ 900
18141100 wupl 504q UU |npud 70 63000{ 900

' Cunudkup 1000000

Ctguidklp 39000000

<<Upkith>> 200U-h nbopkl’ U. Uuwinpjub

Zwofuuyuh’

% %o:/ U. Udtnhujut

-




